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1. The five following massages, enciphered on the .AggresB"Or ZBl-llO 

machine, vere intercepted on 16 December. Solve the texts and recover 
the alphabets empl0)'84. 

a. BABAX BYHVG RCWTL BCLSU JFSVX 

BJZPW BY QTY M. P P E R VM.AUR XMZXX 

RRZPW B M. K C E AJGAJ TABBI DXZKC 

DBS IP GGDCT AXGSS MHM.TD WMZER 
• 

UWCZP QBHRP PPFHO M.DTLD YUXBC 

VDVGT MCWUP ERNDR BYJUF TRJBZ 

DDTLW BBDVE MVXQR M U K S Z QDZYO 

BPRYX G H Z A lf MYBIG BCPSP G P Z I II 

QTPPW JC USS MLZVZ GTCCR XOSAX 

R K Z R Z ZBJIB EPZVZ GICQB XOYRL 

LLSRV DBJVR XS LUZ B U K 8 Z QLOOG 

LXTVP BMKRA URNZC QYABX TBIBQ 

LXTBX MAYMF BDGTD BJEMD VCKZZ 

RRRHT KWZGP IYLUO YWHJF WBZIR 

DYZYU GDZAS FOPWY FXBMU JC PAO 

XICLQG VA QC A P'fXHG BSXJD DCFVC 

XZGMD 

'b. VEVEX OS~LD LVQUX BYVGG GXMYT 

IESUJ l'SVXG LGBUR YPXBI' PGTDQ 

RBI BI 
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• CON ~Nd,~Pl l ........... - ...... -=a. .. 

o. JUJUX LKCLS UYCBT LOJZB VJ YLV 

AUVW'l' WSYLV 0 T L D A CXWRO MRQDL. 

•PPPFB OMDTL DCLJS BLXS-f YVAZ!L. 

4 FDDBI BQIEX 'l'QDYD LBDVQ OL'l'HIC 

a. PEPEX GTDBJ EMBXB ZXUYL TMICMY 

DWMUV WTWSY LDOPR Y E R 'l' J V QV J A 

QSRMV VVOAY KQYKV F Z·X LP 0 K IC Z B 

JCWRB LAG AM. MZLWZ DBGBB 

•• • 0 11 0 x LUAEZ IDVSB ICICLWZ QB TV I 

BAPOI BPJDX BICGWO QJDDC TQROD 

MLCJIB 
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2. Solution ot ZEN..40 traffic on 17 December ;yielded the folloving 
enciphering matrix. In thia matrix, Alphabet 1 ia the alpha.bet used to 
encipher the lat, 26th, 5lat, • • • letters of each BA.BAX mesaage ot the ~. 
Discover the relationships between the matrices ot' 16 and 17 December, 
give a graphic representation of the relationships in as concise a -.mier 
as possible, and complete the matrix ot 16 December. 

A 
B 
c 
]) 

B 
F 
G 
H 
I 
J 
K 
L 

i~ 
~ 0 

p 
Q 
R 
s 
T 
u 
v 
w 
x 
y 
z 

1111111111222222 
123456789 12345 

I TLU F MD 
YMIW XPIL Q UP 
U TI Y iDL PF U 

S Z SSR C S ZRJGAJ 
QDX XRTX FI LWUFUQQIPUXIL 
C GOGG E B KAEBVVJC K 
MMFRFFW MX MR W D U 
DQ RLL UURFIXLIL MIY 

CBKAVABCERBCJHBK EKBVE 
ULL M RPT IU TF DTTD 

I RFT WIURI F 
JJ ABBS SOAESBCHBH SZOE 

GGR JBBGRZ VAZOZGSRB ASO 
YTMTU MUQMQIDTRXF LMDXRQW 

X F Q RWQLXWPPMPRYUUQ LM 
A A A"B Z Z J 0 0 B 0 Z C E S V B 
EB C OS HOR EEB 0 R 
SS GBEAOSJBVKVRS OGKZVR 
RR DWYQLBLDDTL RTDM LPM 

N R ZEZC AJSNK S J JJZ 
JZV R CNBH A EJE KOOECBG 

YU I X RMR FF RIP 
C S G OB OE K AG ZB 

BOEZE EVG 0 BBRA BE 
BY CSB A C A AO A B A 

U X TPTDPM M M PDR LWT 

3. On 18 December there was intercepted the following •aaage, aua­
pected to begin with the words REQUEST CORCURRENCE. Solve the text, and 
reconstruct the diagramma.tic representation of the relationships between 
'the mtrix for this 4ate and that of 16 December. 

BABAX SOOJS QIKTW KVIIV ETBQW 

XYEQB ZSSOD RLMQX ECRUQ XVUVV 

UR~RC FAQYF RQSKV OBZBV RQBYJ 
. 

TOSXT VMSLS TRSKI DRBIY CUUBZ 

. cus•• 
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4. On 19 December the following message was iDtercepted. It is 
suspected that the message has a stereotyped beginning of the form "'1'0 
COMMANDING OFFICER number RF.GDIENT", where the ~gilllent involved is one 
ot the f'trst 20 regiments, :f'rom FIRST 'CO 'NEN'l'm'H inclusive. First 
place the correct :f'u.11 crib, then solve the remainder ot the text and 
reconstruct the d1agro.mma.tic representation of the relationships be­
tween the matrix f'or this date and that of 16 December. 

KIKIX ZNDEU AYVBM OFNAW BIOVN 

VGCBO HZLJW JCIZE XHIES VBOVA 

BBFJD YZUPM AIGWY CRIGW B~OIS 

ABWJG SFUBT BXKPO OIBPV EPKTW 
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